SPYDER Sonix

ITEM # Name of Parts

01  Spyder Barrel Plug
02 9 1/2" Barrel {Black)
2304  Ball Stopper w/ Detent Cover
05A M4 x 6 Screw (Black)
22043  Direct Feed (Black)

200 Receiver (Silver/Black)

201  Receiver (Red/Black)

203  Verlical Adapter (Black)

202  Low Pressure Chamber (Black)
09 O-Ring #015 800

10A  Valve Spring
11 Cup Seal Guide
12 Cup Seal
13 Valve Pin

ITEM #

199

1
200/201 i

Owrc

37D 42F 37A 378

Name of Parts

Valve Body

Valve Body Screw

M5 x 12 Screw (Black)

M5 x 12.5 Screw (Black)
Venturi Bolt

Striker Bolt (#19A)

Striker O-Ring (#18A/#18B)
Barrel O-Ring (Black)

Bolt Pin

Bolt Screw

Quick Disconnect Pin
Disconnect Pin Lock
Striker Spring

Striker Buffer (#1B8A/#18B)

51438 O -

ITEM #

27
27A
215
298
29D
209
207
318
3E
31F
33C
33F
206
36E

206

36E 36E

Name of Parts

Striker Spring Guide

Flat Disc

Striker Bolt Plug (Black)
Lock Screw

Thumb Adjuster w/ screw
Composite Trigger Frame
45 Rubber Grip (Black)
Sear

Sear Spring

Trigger Spring

Grip Cover Screws (M3 x 10)
Nut Screw

G/A Adapter (Black)
5/32" x 7/8" Screw

ITEM #

37A
378
37C
37D
42F
216
199
205
38
38B
204
48
498
48A
210
2641

Name of Parts

Filter O-Ring

Air Filter

Disconnect O-Ring #011(Black)
Plastic Washer (Disconnect Hose)
Male to Male Adatper
Disconnect Hose

Top Cocking Knob (Silver)

Mini Fore Grip (Black)

Safety Button Set (Large)

Ball Bearing & Spring
Expansion Chamber (Black)
Trigger Roll Pin (Large)

Sear Rall Pin (Medium)
Secondary Sear Roll Pin (Small)
Double Trigger (Silver) s

Spare Parts Kit



